Tutorial 3: Time Series Introduction
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@ Time series variable: single unit measured over time
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Regression assumptions practice
Chapter 10 Problem 1
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True or False?

@ Like cross-sectional observations, we can assume that most
time series observations are independently distributed
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@ The OLS estimator in a time series regression is unbiased

under the first three Gauss-Markov assumptions. .
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Regression assumptions practice

Chapter 10 Problem 2 i )
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gGDPt = g + (50intt + 51intt_1 + Uy,
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int; = o +'>'ﬁ(gGDPt_1 —3)+ v

Given 1 > 0, us uncorrelated with int;, int;_1 and v; uncorrelated
with past values of int; and u;, show that Cov(inty, us—1) # 0.
Which assumption is violated?
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